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�LCBMQR�BM	uRFKQB	�RM�6	xHvN	R}	~BQ�MKSv	~S�CKBN6	�RFFBOB	}RM	yRFKQB	HLC	~BQ�MKSv	~S�CKBN6	{FBC6	$&&:	
	
|RLKSRMKLO	 HLSK#QRMM�uSKRL	 B}}RMSN	 KL	 I�MRuB6	 �R�MNB	 ��RMM�uQKRL6	 QH�NHN6	 B}BQSRN	 v	 SMHSHJKBLSR	
��MKCKQR�6	jLSBMLHSKRLHF	�LK�BMNKSv	|BLBLCB�	yBFHvR6	nHFBLQKH6	+#)$	~BuSBJ�BM6$&&:6	
	
�R�	 SR	 uMB�BLS	 QRMM�uSKRL	 KL	 SzB	 uMK�HSB	 NBQSRM�6	 ~BJKLHM	 RL	 IQRLRJKQ	 �MKJB6	 tBLBMHF	 yRFKQB	
xKMBQSRMHSB6		!���F�HLH6	$$	�HL�HMv6	$&&,6	
	
jLNSM�JBLSN	R}	SzB	�R�LQKF	R}	I�MRuB	RL	SzB	@KOzS	HOHKLNS	�RMM�uSKRL	HLC	}RM	yMRJRSKLO	y��FKQ	ISzKQN6	
�RL}BMBLQB	RL	SzB	I�MRuBHL	�RCB	R}	�RLC�QS	}RM	!RQHF	HLC	�BOKRLHF	IFBQSBC	�BuMBNBLSHSK�BN6	�RJB6	$9	
@B�M�HMv6	$&&,	
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"LN�BMKLO	LB�	QzHFFBLOBN	R}	QMKJB	�	}KOzS	HOHKLNS	QRMM�uSKRL6	�RL}BMBLQB	�{�KFCKLO	HL	HMBH	R}	}MBBCRJ6	
NBQ�MKSv	HLC	��NSKQB?	SzB	QzHFFBLOBN	}RM	I�MRuB�6	~KLHKH	��RJHLKH%6	)#$	"uMKF6	$&&,6	
	
 MOHLKNBC	 QMKJB	 JHM�BSN6	 NSM�QS�MB	 R}	 QMKJKLHF	 RMOHLKNHSKRLN	 HLC	 NSMHSBOKBN	 HOHKLNS	 RMOHLKNBC	 QMKJB6	
~BJKLHM	 �~SHSB	 NBQ�MKSv6	 SMHLN#LHSKRLHF	 RMOHLKNBC	 QMKJB	 HLC	 KFFBOHF	 KJJKOMHSKRL�6	 I�	 �RJJKNNKRL	 }RM	
xBJRQMHQv	SzMR�Oz	!H�	�nBLKQB	�RJJKNNKRL%6	EMKBNSB6	A#'	��Fv6	$&&,6	
	
�R#RuBMHSKRL	HOHKLNS	SMH}}KQ�KLO	KL	z�JHL	�BKLON6	�RJ�HSKLO	 MOHLKNBC	�MKJB	�	{BNS	yMHQSKQB	~�M�BvN	R}	
SzB	�R�LQKF	R}	I�MRuB6	�R�LQKF	R}	I�MRuB6	$&&,6	
	
yMB�BLSKLO	}MH�C	KL	SzB	zBHFSz	NBQSRM6	�RL}BMBLQB	�ISzKQN	KL	�zKSB�6	yRMSRMR�6	$)#$$	 QSR�BM6	$&&,6	
	
@KLHLQKHF	HLC	��COBSHMv	JHLHOBJBLS	HS	SzB	FRQHF	FB�BF6	~BJKLHM	��RMM�uSKRL	HS	SzB	FRQHF	FB�BF�6	!���F�HLH6	
)+	�R�BJ�BM6	$&&,6	
	
�RMM�uSKRL	HLC	��JHL	�KOzSN	KL	I�MRuB6	~BJKLHM	��RMM�uSKRL	HLC	��JHL	�KOzSN�6	"SzBLN6	tMBBQB6	)	NS	
|HMQz6	$&&A6	
	
@KOzSKLO	�RMM�uSKRL	 KL	~R�Sz	IHNSBML	I�MRuB6	IDuBMS	HLC	|KLKNSBMKHF	�RL}BMBLQB	RL	|BHN�MBN	 SR	��M�	
�RMM�uSKRL	KL	~R�Sz	IHNSBML	I�MRuB6	{M�DBFFBN6	))#)$	|Hv6	$&&A6	
	
�RM�uSKRL	HLC	jFFBOHF	xM�ON6	�RL}BMBLQB	�jFFBOHF	xM�ON	KL	~FR�BLKH�6	�HSKRLHF	�R�LQKF6	!���F�HLH6	$,	|Hv6	
$&&A6	
	
�RMMBFHSKRL	 �BS�BBL	 �RMM�uSKRL	 HLC	  uBL	 ~RQKBSv6	 �RL}BMBLQB	 �|RCBML	 y��FKQ	 "CJKLKNSMHSKRL�6	
yRMSRMR�6	$,	|Hv6	$&&A6	
	
{�KFCKLO	HLC	I�HF�HSKLO	|RLKSRMKLO	|BQzHLKNJN6	jn	tFR�HF	@RM�J	RL	@KOzSKLO	�RMM�uSKRL6/	{MHNKFKH6	'	�	
)&	��LB6	$&&A6	
	
EzB	~FR�BLKHL	IDuBMKBLQB	KL	jJuFBJBLSKLO	jLSBMLHSKRLHF	"LSK#�RMM�uSKRL	~SHLCHMCN6	�RL}BMBLQB	
�yMRJRSKLO	jLQRMuRMHSKRL	R}	jLSBMLHSKRLHF	"LSK#�RMM�uSKRL	~SHLCHMCN	KLSR	~BM�KHL	!BOKNFHSKRL�6	{BFOMHCB6	
$&#$)	~BuSBJ�BM6	$&&A6	
	
xRBN	 ~FR�BLKH	 �BBC	 yMB�BLSKRL	 R}	 �RMM�uSKRL�6	 �RL}BMBLQB	 ��HuKSHFKNJ	 HLC	 nKRFBLQB	 �	 EMHLNOMBNK�B	
�MKJKLRFROv�6	!���F�HLH6	:&	~BuSBJ�BM6	$&&A6	
	
HLC			JHLv	RSzBMN/	
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